YEDEK PARGALAR

SPARE PARTS
ERSATZTEILE

- | ®©
. I A
Takim Kodu
ggg[%’/;{ggzgg#ung --- Uriin Detayi / Product Detail | Produkt-Details
AKY-01 77 112 09 TSSTEi/ForTSISTEN) ARZSISTE | CNMG 12, WNMG 08, TNMIG 22, DNMG 15, SNMG 12, VNG 16
o AKY-02 6_5________1_3__5 ______ 0.7 GOSTEMin/Fo COSTEN/ ARCSISTEM| KNUX 16
© -0
C d
b
Takim Kodu
ggggll-g“e]zg/g/#ung -...- Uriin Detayi / Product Detail / Produkt-Details
AKV-13-M8X1X16 M8x1.0 16 6.8 CSISTEM FREZELEME | |§|n / MILLING For C- SYSTEM/FURCSVSTEM SPKN 12, 263 TPKN 16

=
=
=
—L
UI
=
o
>
—
><
N
[—]
s
<
—_—
o
(=)
o
oo
(&3]
o
(&3]
S
<
o,
=
m
=
T
=
m
—~
m
m
m
=
mm
=)
=
=
=
=
=
=
&S
=)
o
<
>
==
m
=
=
pa
=
)
[
S
=
<
o
n!
=
=
o
~
I
g
o
©

AKV-18-M5X14 M5X08 15 5 68 2.5 CSISTEMFREZELEMElan MILLING For C- SYSTEM / /LR C-SYSTEW

AKV-22-M8X1X14 M8x1.0 14 6.8 4.8 4  C-SISTEMFREZELEVE igin/ MILLING For C- SYSTEM / AR C-SYSTEW

AKV-24-M6X1X18 M6x1.0 18 75 75 3 CSISTEMFREZELEMElan MILLING For C- SYSTEM/ FURC‘SVSTEM SN.. 1204

e
—
w
=
ury
©

\\
=
=
(2]
o
—
)
=
=
=
o

AKV-28-M10X1.5X43 M10X1 5 43 18 18 5  WNMUOGT. 050 MONTAIVDASI/ MOUNTING SCREW/ serEsTioumesscHRAuee |WNU 0907, 050

OAKKO

www.akko.com.tr






